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8-1 FEFMEA DR S
(3) PR (FFR) MotkRWS (%M : LM, 7F X : FB)
a) WIEOEIT
T F R A BXH B CX[# C DX
LTS Z T A D& T - i JE i 7 bt JE i 7 bt JE i A v HifZ
n MO =1 FTL=2) 2 2 2 2 2 2
N SREf IS J 2 JEAGED S GRENEA A A) 0 0 0 0 0 0] [kN]
E : Yo 7% 205000 205000{ 205000] 205000{ 205000] 205000] [N/mnf]
Fy : FE{RERSE 258 258 258 258 258 258| [N/mni]
Fu : e Re1EI ) 400 400 400 400 400 400| [N/mnf]
h : T AR 400 400 400 400 400 400]  [mm] |
A TV 65 65 65 65 65 65|  [mm
B . 7 /N 65 65 65 65 65 65]  [mm] |
t T T INE 6 6 6 6 6 6]  [mm
BR : 7 F Apoih 32 32 32 32 32 32| [mm] |
tl : 7 F AMOWRE 9 9 9 9 9 9]  [mm
Ad T F AM OWiEE BR-t1= 2. 88 2.88 2.88 2.88 2.88 2.88 [cnf]
Ao : W—HIaKM T RS 7.53 7.53 7.53 7.53 7.53 7.53] [ceni]
Afc : JEAERISEA O 2 W iff n-Ao=| 15.06] 15.06] 15.06] 15.06] 15.06] 15.06] [cni
Ag : BWHEfE (=X3A) 2-Afc=| 30.12] 30.12] 30.12] 30.12] 30.12] 30.12| [cni
To : MM Mim _KE—A2 | 29. 4 29. 4 29. 4 29. 4 29. 4 29. 4| [cm4]
Cx_: BB oA 4 i PN LD 1.81 1.81 1.81 1.81 1.81 1.81] [cm
Cy : H— MBS i b F DT 1.81 1.81 1.81 1.81 1.81 1.81] [cm]
ix : RO x dhlE Y oW RER (EE ) 1.98 1.98 1.98 1.98 1.98 1.98] [cm
iv o BB RO 0D S W i — KRR 1. 27 1.27 1. 27 1.27 1.27 1.27]  [cm]
ixd : FEM O x fihla] © O P —REE 1.98 1.98 1.98 1.98 1.98 1.98] [cm
iyd : FEM Oy EE Y OHEESMETE KA 1.98 1.98 1.98 1.98 1.98 1.98] [cm]
es : yHNIHT HH X 18 18 18 18 18 18]  [mm
o U~y MEFEIFIA/L ML 5[mm] 13.0 13.0 13.0 13.0 13.0 13.0]  [mm
b) L T &2 5 b T REM O FKBEmS : MmK
- N
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N
pic<ic=eldc Nc‘:.{l.07—0.44 o (3.1.2b) y S y >1yd
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A B Xf#] B C X C DX
= 7 i FE i 1 i FE i £ i HAL
L2 : B A PR O i N AR ) 33.5 33.5 33.5 33.5 33.5 33.5| [em
Ld : FF AMOARNL - EORIERE J ez 2412°2)= 49.5 49. 5 49.5 49.5 49.5 49.5(  [cm]
nd : 7 F AEH O 2 2 2 2 2 2
ez : Z WK 5 EOALE h-2-Cx= 36. 4 36. 4 36. 4 36. 4 36. 4 36. 4| [cm]
A1z 11.9 11.9 11.9 11.9 11.9 11.9
Lkz : HENSEERE S (A0 L < AR 1920. 0]  1920.0] 1920.0] 1920.0[ 1920.0] 1920.0[ [cm]
m_: AN T BN D FEM UIEMER O R 2 2 2 2 2 2
iz : z il (B FoMAE) oWim kRS i i) 18.3 18.3 18.3 18.3 18.3 18.3]  [em]
Lz BER KL L TERT2 L E0ME] Lkz/iz= 104.9 104.9 104.9 104.9 104.9 104.9
Aze : Alz=20D % X Aze=Az 104.9]  104.9] 104.9] 104.9] 104.9] 104.9
@Y HHZSYWTD Lye (IXEHBIE)
Avy=Lv/iv (vifif))
2
1y:1/ [EJ +(iva)2 (3.2.14)
2
Ay=Lky/iy (3.2.15)
Avy>20 7272 L Avy>h005AITSEMEE T 5,
lyezv lszrg A vy2 (3. 2. 16a)
Avy=20
Aye= Ay (3. 2. 16b)
ABXH B CX[# CDRXMH
st} A vt st} A vt st} A vt HLAT
Lky : HmisMERE 398.0]  398.0] 398.0] 398.0] 398.0] 398.0] [cm
Lv : DY MBI EAROKME & 33.5 33.5 33.5 33.5 33.5 33.5| [em
m_: AN T HN D FEM UTFEMEEOH) 2 2 2 2 2 2
ey : v #hZxEd 5 HOArE es+2:Cy= 5.4 5.4 5.4 5.4 5.4 5.4] [cm]
iy c oyl CEFRHM AR oim —yeER msh) 3.36 3.36 3.36 3.36 3.36 3.36] [cm]
Avy : BEMIE S AR O AR b EEEEEO MR Lv/iv= 26. 4 26. 4 26. 4 26. 4 26. 4 26. 4
Ay BER S LTHERT 2 & X O/MELL Lky/iy= 118.6 118.6 118.6 118.6 118.6 118.6
Lye : Avy=200D & X Lye=Ay 121.5] 121.5] 121.5] 121.5] 121.5] 121.5
BE N 2EEEROASME T
[ An_ BMOADMEL=mnax(Aze, Aye) | 121.5] 121.5] 121.5] 121.5] 121.5] 121.5] |
y
d) WENRHEE (BE—H) ey (FEHE TRV )
M OEMMS : PcldkRizk 5,
2 fe=pa Pc=P (3.2. 3a) X
c=pne e T ¢ G
plc< A fc=Zelc Pc';{l.07—0.44 }'Pyc (3.2.3b)
ec y
edc< A fe Pc0.83 + Pec (3.2.3¢) Cy° Ly
Y?
A OBAERE BT S : PeciIRRIT & B, N
PecDFFAMIC 1 5 FEIT R S 13, ST IS DU C IR s P EREE . Mmsh N ,
DV TR R - 5, X=X
_ ZAfc' 7'C2E \\V
T2 (3.2.4) y
ApIEAplE Ap20D ) HLREWMELE T 5,
{ Apl= L xe (3.2.5a) Lky
1p2= 1 ye (3.2.5b)
OFhdl () |V OME L
FLST A O FEMEHIC S\ T OB OREL, M oBEIC L 5,
A x=Lkx/ix
ix=1ixd (3.2.6) Lv
Axe= Ax
A R
A N R R (41
A B Xf#] B C X C DX
= 1 i FE i 1 i FE i £ i HAL
Lkx : & m N BEEEE 33.5 33.5 33.5 33.5 33.5 33.5] [cm]
Ax : el (xfih) [R1Y OME I 16.9 16.9 16.9 16.9 16.9 16.9
Axe (HEmEAN)  Axe=Ax 16.9 16.9 16.9 16.9 16.9 16.9
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@FETRRVEL (yllh) BEIY OFMEL
FANTEAEM D FENE Tl DWW COERIZH LTk, B—HoMEk%
T L L CHEET D, LS 2RO EMEM Tk, 3XFH IO RS ,ff%Ffiﬂm
I HA, RROBKEICL D Z LN TED
Ay=Lky/iy - m=
. ey 2.
1y:v {?} +(ivd) 2 (3.2.7) I i yarﬁmm
\
Lply=Lv/iv ﬁ F F ; ﬁ
Aply>20 7272L Aply>b0D58I1IBEMHL T 2, 2 e C S
A ye= ly2+g lply2 (3.2.8) J m=2 L I ﬂ
Aply=20
Aye= Ly (3.2.9) iﬁitm%ﬁﬁ@&
A BIXH B C X [#] CDRXMH
st} A vt st A vt st A vt HLAL
Lky : HEmmAMEE S 398.0]  398.0] 398.0] 398.0] 398.0] 398.0| [cm
Lv : D3 YW MIFSHROXME X 33.5 33.5 33.5 33.5 33.5 33.5] [cm
m_: AN T HN D FEM UTFEMEEOH) 2 2 2 2 2 2
LTS A RN U VAT es+2:Cy= 5.4 5.4 5.4 5.4 5.4 5.4] [em
A O v B Y oo 4% AW R — KRR 1.98 1.98 1.98 1.98 1.98 1.98] [em]
A D y dihiEl Y oW —ACERE (RS 3.4 3.4 3.4 3.4 3.4 3.4 [cm
Ay BEMHB - LTHERT S & & OME Lky/iy= 118.6 118.6 118.6 118.6 118.6 118.6
Aply : DO MTEOHMIR Lv/iv= 26. 4 26. 4 26. 4 26. 4 26. 4 26. 4
Lye : Aply=200& X Lye=1y 121.5 121.5| 121.5 121.5| 121.5 121.5
E%F Rf D Al L
| p B OFERME N, =mnax (A xe, Aye) | 121.5] 121.5] 121.5] 121.5] 121.5] 121.5] |
e) BERADEE
A BIXH B C X [#] CDRXMH
i | A T et | A Hifr
- 2EEOHEERR : Ne
n_: M OASHHIE . =max (A ze, A ye) 121.5 121.5] 121.5 121.5] 121.5 121.5
Aze [ (3.2. 11a) 2\ 104.9 104.9 104.9 104.9 104.9 104.9
Aye [ (3.2. 11b) X 121.5 121.5 121.5 121.5 121.5 121.5
Ne=| 412.9] 412.9] 412.9] 412.9] 412.9] 412.9] [kN]
- 2WEOHFERER : Nc
Ny - AW o B R BR ALl /7 Fy - Ag= 777. 1 777. 1 777. 1 777. 1 777. 1 777. 1] [kN]
Ac BT E AN b J_(Ny/Ne)= 1.37 1.37 1.37 1.37 1.37 1.37
pAc : MAMERAMIRE L (=0.15) 0.15 0.15 0.15 0. 15 0.15 0.15
edc : HPERRFVE (=1//0.6) 1.29 1.29 1.29 1.29 1.29 1.29
A c D[ Ne D EX (3.1.20)0 | (3. 1. 20) K[ (3. 1. 20) | (3. 1. 20) K[ (3. 1. 20) H| (8. 1. 20) K.
lc=pAic (3.1.2a) & 777. 1 777. 1 777. 1 777. 1 777. 1 777. 1
pic<Ac=elc (3. 1. 2b) 3K 362. 4 362. 4 362. 4 362. 4 362. 4 362. 4
elc< ic (3.1.20) & 342. 7 342.7 342. 7 342.7 342. 7 342.7
Ne=| 342.7| 342.7[ 342.7] 342.7[ 342.7] 342.7| [kN]
- BMOBMEEmMS : Pe c
p_: AZhE L =max (A xe, Ave) 121.5 121.5 121.5 121.5 121.5 121.5
A xe (HETHIPY) [ (3.2.6) 5\ 16.9 16.9 16.9 16.9 16.9 16.9
Aye (Himsth) [ (3.2.8)~(3.2.9) X 121.5 121.5 121.5 121.5 121.5 121.5
Pec=| 206.5] 206.5| 206.5] 206.5] 206.5] 206.5] [kN]
- M otFTERR : Pc
Pyc : 5%k OREARENT) Fy - Afc= 388.5 388.5 388.5 388.5 388.5 388.5|  [kN]
Afe o i EEEAME J (Pyc/Pec)= 1.37 1.37 1.37 1.37 1.37 1.37
pAc : BPEIRFIR L (=0.15) 0.15 0.15 0.15 0.15 0.15 0.15
edc : BPERFENL (=1/40.6) 1.29 1.29 1.29 1.29 1.29 1.29
A feD#H NeD B & (3.2.3c) 2] (3. 2.3¢) [ (3. 2. 3¢) | (3. 2. 3¢) [ (3. 2. 3¢) | (3. 2. 3¢) X
Lfc=plc (3.2.3a) X 388. 5 388.5 388. 5 388.5 388. 5 388.5
plc< Afc=edc (3.2.3b) & 181.2 181.2 181.2 181.2 181.2 181.2
elc<Afe (3.2.3c) 3 171.4 171.4 171. 4 171.4 171. 4 171.4
Pe=| 171.4| 171.4| 171.4| 171.4| 171.4| 171.4| [kN]
f) I 220N
Ae : Afc-n- ¢ - t= 13.50 13.50 13.50 13.50 13.50 13.50] [ent
de @ 5%t O BEH FREE h-2-Cx= 364 364 364 364 364 364 [mm] |
Pc : [EREMRIGEA O ERETT 71 171.4|  171.4] 171.4[ 171.4] 171.4] 171.4] [kN
Pu : BliEMGEM I & % h B BA MR AF| RS Fu-Ae=| 540.0( 540.0] 540.0] 540.0] 540.0] 540.0[ [kN
o EERE(=1.2) 1.2 1.2 1.2 1.2 1.2 1.2
Mc= 62.3 62. 3 62.3 62. 3 62.3 62. 3| [kN-m]
B T R /7 Mm Mm= (1-N/NC) Mc= 62. 3 62. 3 62. 3 62. 3 62. 3 62. 3| [kN-m]
FESLIEREA O vE MR

a) JEMEM AT HERE Y Ny b - @AAL R DV
30emPA F &3 2%, 72720, Uy b« BAORNLVEIRTEILE
UFET 5,
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(3) ®AMIMHS
) . PLu J
Qu=NL X sin 0 *min|PLc, — (3.2.17)
(67
PLc : T F AM OJEHGEMN S
PLu : 7 F AMICE TN DA ORS8RI S
o AR GEL2)
NL @ 7 F AHEmE D%k
F F A% DIERMGM A 2 PLeidkRiz X 5,
ALc=pAilc PLc=PyL (3.2.18a)
pAle<ALe=eAilc Pl,u':.{1.o7-o. 44 11?:‘ J - Py (3.2.18b)
edlle< ALle PLc=0. 83 + PeL (3.2.18c)
PLe=ALo 2E/ A2 (3' 2. 19)
SFAMBT Ty hX=RDT, AITA1E L1205 HLREVEET S,
A1=21x (3.2.20a)
A2=ALy (3.2.20b)
A x=Lkx/ixd (3.2.21a)
Ay=B-Lky/iyd (3.2.21b)
(%1) TLky: BEABEEZX] X, (Ld: SFXHORNL NELMERE & L7=83,
PRICEENAERCADRBYMR S B L EXBHEER Y. BRI UREHE
U CRE B ENTBZ L LT3,
7 F AM A BXH B CIXH CDXH
75y b= HEHOBE e v 15 vk e b 15 vk e b A5 Ui HAL
Pyl : BRIRBREE 258 258 258 258 258 258| [N/mni]
Fu : g RE1IEMH /) 400 400 400 400 400 400| [N/mmni]
E : Yo U5 205000  205000]  205000] 205000] 205000| 205000{ [N/mnd]
nl : T F AMEHE DO 2 2 2 2 2 2
BR : ZF AMDIh 32 32 32 32 32 32[  [mm]
t : TF AMRE 9 9 9 9 9 9] [mm]
ALo : 7 F ADH sk 2. 88 2.88 2.88 2.88 2.88 2.88] [cm]
Aloe : 7 F 2D H—MA 2N HifE ALo—¢ -t= 1.62 1.62 1.62 1.62 1. 62 1.62] [cndf]
ixd Wi S SCERR (Xl 0. 92 0.92 0.92 0.92 0.92 0.92[ [cm]
ivd Wi SRR (YY) 0. 26 0.26 0.26 0.26 0.26 0.26] [cm]
Lkx : i N EE X 24.8 24.8 24.8 24.8 24.8 24.8] [cm]
Lky : #mESMVERE & Ld= 49.5 49.5 49.5 49.5 49.5 49.5| [cm]
B :Lkyicxi3 2 HAZERRE A (K1) 0.7 0.7 0.7 0.7 0.7 0.7
B +Lky= 34.6 34.6 34. 6 34.6 34.6 34.6] [cm]
bFu_: 7RV F DFIER S 400 400 400 400 400 400] [N/mnf]
BRI b R o0, Uy bol EER 1 1 1 1 1 1
d AL ORI 13 13 13 13 13 13| [mm]
Ad AV N OEERICINZ D ZEX 1 1 1 1 1 1] [mm]
o R P REBEELIT Y Ay bR d+Ad= 14.0 14.0 14.0 14.0 14.0 14.0]  [mm]
ml B AR O 2 2 2 2 2 2| [m]
nn ;AL NOEK 1 1 1 1 1 S
Ab : AV S Ol AR nk(d/2) 2= 133 133 133 133 133 133]  [mm]
el :MHEIRX 25 25 25 25 25 25 [mm]
- FFAMDRRENT : PeL
A —EiE=nax(1x, Ay) 133 133 133 133 133 133
Ax (3.2.21a) 27 27 27 27 27 27
1y (3.2.21b) 133 133 133 133 133 133
Pel= ALo t2E/ A 2= 32.8 32.8 32.8 32.8 32.8 32.8] [kN]
« T FAMDJEMM ] : PLe
PyL : 7 F AM ORI FyL « ALo= 74.3 74.3 74.3 74.3 74.3 74.3]  [kN]
Alc : hiFERME, =/ (PyL/Pel) 1.50 1.50 1.50 1.50 1.50 1.50
eAlc : HPERIVIE (=1//0.6) 1.29 1.29 1.29 1.29 1.29 1.29
pALc : YAMIRAAIE I (=0.15) 0.15 0.15 0.15 0.15 0.15 0.15
A Le DB PLcDFEX (3.2.18¢) (3. 2. 18¢) (3. 2. 18¢) (3. 2. 18¢) (3. 2. 18¢) (3. 2. 18¢) 5L
ALlc=pilc (3.2.18a) &, 74.3 74.3 74.3 74.3 74.3 74.3|  [kN]
pALc< ALec=<eAlLc (3.2.18b) 3 30.3 30.3 30.3 30.3 30.3 30.3]  [kN]
eAle<Alc (3.2.18¢) 5\, 27.2 27.2 27.2 27.2 27.2 27.2|  [kN]
PLc= 27.2 27.2 27.2 27.2 27. 2 27.2] [kN]
s FFAMIZE LN D ESEEKEIENmM S : PLu
(7)  BM Bzl Ot /) PLul=Fu-ALoe= 64. 8 64. 8 64. 8 64.8 64.8 64.8] [kN]
(A£) A kot AW PLu2=0. 75-mL*nn-Ab-bFu= 79.6 79.6 79.6 79.6 79.6 79.6[  [kN]
(7)  S@sFis PLu3=nn-eL-t:Fu= 90.0 90.0 90.0 90.0 90.0 90. 0 [kN]
PLu=min (PLul, PLu2, PLu3) = 64.8 64.8 64.8 64.8 64.8 64.8| [kN]
PLu/1.2= 54. 0 54. 0 54. 0 54. 0 54. 0 54.0] [kN]
0 : TFAMD NT AMibh & T A 47.4 47.4 47.4 47.4 47. 4 47.4] [°
sinf : 0. 736 0. 736 0. 736 0. 736 0.736 0. 736
H AW & RIT /7Qm
Qm=nL X sin § -min (PLc, PLu/1. 2)= 40.1 40.1 40.1 40.1 40.1 40.1| [kN]




